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PROFESSIONAL EXAMINATION
BOARD

Group­05 Pharmacist, Lab technician
and other equivalents post
Recruitment Test ­2017
16th April 2017 03:00 PM  

Topic:­ General Studies

“हो सकता है राम का काम बन जाये” इस वा� का �कार बताइए।

1. िनषेधवाचक

2. संदेहवाचक

3. �Āवाचकc

4. आ帀�ावाचक

Correct Answer :­

संदेहवाचक

सारा जीवन तो लोगो ंको सताते रहे, अब िकसी से मदद की आशा करना �थ� है �ोिंक यिद
______________।  ؀�र� ી�थान की पूित� के िलए उिचत लोको�ـ� चुन�?

1. बोया पेड़ बबूल का तो आम कहाँ ते होय

2. न नौ नगद न तेरह उधार

3. खरबूजे को देखकर खरबूजा रंग बदलता है

4. एक तो करेला दूसरे नीम चढ़ा

Correct Answer :­

बोया पेड़ बबूल का तो आम कहाँ ते होय

∠P and ∠Q are complementary. If ∠P=x+23° ∠Q=7° +2x. Find the value of x. / ∠P एवं ∠Q
संपूरक ह誀�। यिद ∠P=x+23° एवं ∠Q=7° +2x ह誀�। तो x का मान 帀�ात कर� ।

1. 20°

2. 40°

3. 90°

4. 30°
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Correct Answer :­

20°

Find the value of 10140 ÷10136 . / 10140 ÷10136  का मान 帀�ात कर�।

1. 100

2. 1000

3. 10000

4. 10

Correct Answer :­

10000

Concentrated sugar syrup is prepared by dissolving sugar in hot water. On cooling crystals of sugar
got separated. This indicates a ___________. / सांि၀�त चाशनी, गम� जल म� चीनी के िवलय �ारा तैयार की जाती
है। ठंडी होने पर चीनी के ि跀�Āल अलग हो गए। यह संकेत करता है _______

1. physical change that can be reversed / भौितक प؀�रवत�न, जो िक उ摀�िमत हो सकता है।

2. chemical change that can be reversed / रासायिनक प؀�रवत�न, जो िक उ摀�िमत हो सकता है।

3. physical change that cannot be reversed / भौितक प؀�रवत�न, जो िक उ摀�िमत नही ंहो सकता है।

4. chemical change that cannot be reversed / रासायिनक प؀�रवत�न, जो िक उ摀�िमत नही ंहो सकता है।

Correct Answer :­

physical change that can be reversed / भौितक प؀�रवत�न, जो िक उ摀�िमत हो सकता है।

Choose appropriate articles for the given sentence:

You need to make ______ conscious effort to move away from ______ past.

1. a, the

2. an, a

3. an, an

4. the, the

Correct Answer :­

a, the

If SYMBOL is coded LOMBYS, then how is LIQUID coded? / यिद SYMBOL को LOMBYS से कोिडत
िकया जाता है, तो LIQUID  को कैसे कोिडत िकया जायेगा?
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1. DIUQIL

2. DLIUQI

3. DULIQI

4. DIQUIL

Correct Answer :­

DIQUIL

Choose the appropriate prepositional phrase for the given sentence:

My sister has decided to ______ with me.

1. move about

2. move in

3. move down

4. move off

Correct Answer :­

move in

Choose the correct answer and fill up the blanks:      ×   = _________. / सही उĀर का चयन

कर�  एवं ؀�र� ી�थान भर�  :   ×   = _________

1. 

2. 

3. 

4. 

Correct Answer :­

शुĀ श� का चुनाव कर�  ­

1. िकप�या
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2. कृपया

3. 跀�Āा

4. कृĀा

Correct Answer :­

कृपया

Cell organelle that secretes digestive enzymes are / कोिशका अंगक, जो पाचक �िकĀ (हाम�न) का
 �ावन करती ह誀�,

1. Ribosomes / राइबोसोम

2. Mitochondria / सू�किणका (माइटोकॉ�ـĀी� या)

3. Plastids / लवक (Āा�ـĀड्स)

4. Lysosomes / लयनकाय (लाइसोसोम)

Correct Answer :­

Lysosomes / लयनकाय (लाइसोसोम)

The three edges of a cuboid are 27, 64 and 125cm, respectively. What is the measure of the edge of a
cube of the same volume? / एक घनाभ के तीन िकनारे 跀�मश: 27, 64 एवं 125 सेमी ह誀�, तो समान आयतन वाले
एक घन के िकनारे की माप �ा होगी?

1. 30cm / 30 सेमी

2. 80cm / 80 सेमी

3. 40cm / 40 सेमी

4. 60cm / 60 सेमी

Correct Answer :­

60cm / 60 सेमी

In an experiment 2.25kg of a fuel was completely burnt. The heat produced was measured to be
90,000 kJ. Calculate the calorific value of the fuel. / एक �योग म�, ईंधन के 2.25 िकलो躀�ाम को पूण� ீ�प से
जला िदया गया था। उ�ािदत ऊĀा को 90,000 िकलो जूल तक मापा गया था। ईंधन के ऊĀीय मान की गणना
कर�।

1. 40000 kJ/kg  / 40000 िकलोजूल / िकलो躀�ाम

2. 4000 kJ/kg / 4000 िकलोजूल / िकलो躀�ाम

3. 400 kJ/kg /  400 िकलोजूल / िकलो躀�ाम

4. 40 kJ/kg / 40 िकलोजूल / िकलो躀�ाम

Correct Answer :­
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40000 kJ/kg  / 40000 िकलोजूल / िकलो躀�ाम

Choose the correct form of tense for the given sentence:

Vishnu wants to work in Japan, so he ______ Japanese.

1. learned

2. will have learned

3. is learning

4. learns

Correct Answer :­

is learning

If all colors of spectrum  are reflected, the object will look / यिद Āेᕀ�ी�म के सभी रंग परावित�त होते ह誀�
तो वĀु ______ िदखेगी।

1. White / सफेद

2. Black / काली

3. Grey / धूसर

4. Colourful / रंगीन

Correct Answer :­

White / सफेद

Who was appointed the Chairman of the Central Board of Direct Taxes in November, 2016? / नवंबर
2016 म� क� ၀�ीय �Ā� कर बोड� का अ満�� िकसे िनयु� िकया गया?

1. Sushil Chandra / सुशील चं၀�

2. Sashikanta Das / शिशकांत दास

3. Arvind Panagariya / अरिव漀� पानग؀�रया

4. Vinod Dahl / िवनोद दाहल

Correct Answer :­

Sushil Chandra / सुशील चं၀�

Choose the correct form of expression to complete the sentence:

Sadly, our new product has faced a total ______ of consumer interest.

1. shortage
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2. lack

3. scarcity

4. disappointment

Correct Answer :­

lack

The __________ birth anniversary of Netaji Subhash Chandra Bose was on 23rd January, 2017. / 23
जनवरी, 2017 को नेताजी सुभाष चं၀� बोस का __________ जĀिदवस मनाया गया।

1. 120th / 120वाँ

2. 121st / 121वाँ

3. 122nd / 122वाँ

4. 123rd / 123वाँ

Correct Answer :­

120th / 120वाँ

Choose appropriate articles for the given sentence:

She went to market, purchased ______ few groceries and ______ kilogram of apples and then went
home.

1. a, a

2. the, a

3. a, an

4. the, the

Correct Answer :­

a, a

of 49 is: / 49 का  है:

1. 21

2. 41

3. 32

4. 55
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Correct Answer :­

21

If the cost price of 25 pens is the same as the selling price of 20 pens, what is the percentage of profit
or loss? / यिद 25 पेनो ंका 跀�य­मूĀ, 20 पेनो ंके िव跀�य मूĀ के बराबर है, तो लाभ अथवा हािन का �ितशत �ा
होगा?

1. 25% loss / 25% हािन

2. 20% loss / 20% हािन

3. 20% profit / 20% लाभ

4. 25% profit / 25% लाभ

Correct Answer :­

25% profit / 25% लाभ

िजन श�ो ंके साथ�क खंड न हो सक�  और जो अĀ श�ो ंके मेल से न बने हो ंउ�� कहते ह誀�
_____________ |

1. योगீ�ढ़

2. यौिगक

3. ீ�ढ़

4. अिवकारी

Correct Answer :­

ீ�ढ़

The following question is based on an encryption system in which / िनĀ �Ā एक एंि跀�蜀�शन �णाली पर
आधा؀�रत है िजसम�

 

Sing a song is coded as Pit De Se / Sing a song को Pit De Se से कोिडत िकया जाता है

Play the guitar is coded as Mu Man Gi / Play the guitar को Mu Man Gi से कोिडत िकया जाता है

Sing and Play is coded as Ki Se Man / Sing and Play को Ki Se Man से कोिडत िकया जाता है

 

Which word is coded as Man? / Man से िकस श� को कोिडत िकया जाता है?

1. And

2. Guitar

3. Play
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4. Song

Correct Answer :­

Play

Which of the following union ministries has launched the “Rashtriya Swasthya Bima Yojana
(RSBY)”? / िनࢀ� न म� से िकस के蚀� ၀�ीय मं�ालय ने ‘राĀ टी� ीय ી� वाી� Ā य बीमा योजना (आरएसबीआई)’ का आरंभ 
िकया?

1. Ministry of Rural Development / 躀�ामीण िवकास मं�ालय

2. Ministry of Women and Child Development / मिहला एवं बाल िवकास मं�ालय

3. Ministry of Housing and Urban Poverty Alleviation / आवास तथा शहरी गरीबी उ蚀� मूलन मं�ालय

4. Ministry of Health and Family Welfare / ી� वाી� Ā य तथा समाज कĀ याण मं�ालय

Correct Answer :­

Ministry of Health and Family Welfare / ી� वाી� Ā य तथा समाज कĀ याण मं�ालय

Complete the sentence choosing the right option:

Oil paints are ______ they have become the popular painters' colours.

1. so versatile and durable that

2. so versatile and durable than

3. such versatile and durable as

4. very versatile and durable

Correct Answer :­

so versatile and durable that

Topic:­ Women multipurpose health workers (A.N.M.)

The condition where swelling of infant skull in which collection of blood occurs in between
the pericranium and flat is called as___________. / वह �ـી�थित ___________ कहलाती है िजसम�
िशशु की खोपड़ी म� सूजन होती है, िजसम� पेरी跀े�नीयम (कपाल की ह�ी का आवरण) तथा Āैट
(समाट) के मध् य रक् त सं躀�हीत होता है।

1. Cephalhaematoma /  शीष�ररŀ� तसं躀�ह (िसफैĀ हेमाटोमा)

2. Caput succedaneum / कापुट स�ـᝀ�डेिनयम

3. Skull haemorrhage / खोपड़ी र��ाव (स् कल हेमरेज)

4. Nerve injury / तंि�का चोट (नव� इ蚀�जरी)  
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Correct Answer :­

Cephalhaematoma /  शीष�ररŀ� तसं躀�ह (िसफैĀ हेमाटोमा)

Which of following is an example for non­modifiable risk factor? / िनम् न म� से क् या
अप؀�रवत�नीय जो�ـखम घटक का एक उदाहरण है?

1. Heredity / आनुवांिशकता

2. Smoking / धू�पान

3. Sedentary life style / स् थानबĀ जीवन शैली

4. Stress / तनाव

Correct Answer :­

Heredity / आनुवांिशकता

Placing the baby most of the time near to the mother is called as___________. / बच् चे को
अिधकांश समय के िलए माँ के पास रखने को ________ कहा जाता है।

1. Rooming in / ீ�िमंग इन

2. Bonding / आबंधन

3. Positioning /  �ـી�थित िनधा�रण

4. Cradling / िहंडोले म� झलूना (跀े�डिलंग)

Correct Answer :­

Rooming in / ீ�िमंग इन

The supplementation given along with measles vaccine is _________. / ख़सरे के टीके के
साथ िदया जाने वाला अनुपूरण है _______________।

1. Vitamin C / िवटािमन सी

2. Vitamin B / िवटािमन बी

3. Vitamin A / िवटािमन ए

4. Vitamin D / िवटािमन डी

Correct Answer :­

Vitamin A / िवटािमन ए

Which vaccine is given soon after the birth? / जन् म के तत् काल बाद कौन सा टीका िदया जाता
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Which vaccine is given soon after the birth? / जन् म के तत् काल बाद कौन सा टीका िदया जाता
है?

1. BCG & OPV / बीसीजी तथा ओपीवी

2. Measles  / ख़सरा

3. DPT /डीपीटी

4. Pentavalent / प�टावैल�ट (पंचसंयोज)

Correct Answer :­

BCG & OPV / बीसीजी तथा ओपीवी

Which of the following is an example for live attenuated vaccine? / िनम् न म� से क् या जीवंत
�ीणीकृत टीका का उदाहरण है?

1. Cholera / हैजा

2. Typhoid / टायफॉयड

3. Influenza / इन् Āुएन् जा

4. BCG / बीसीजी

Correct Answer :­

BCG / बीसीजी

Energy provided by cereals per 100g is about ___________. / �ित 100 躀�ा. अनाज से िमलने
वाली ऊजा� की मा�ा होती है ________।

1. 150 kcal / 150 िकलोकैलोरी

2. 250 kcal / 250 िकलोकैलोरी

3. 350 kcal / 350 िकलोकैलोरी

4. 450 kcal / 450 िकलोकैलोरी

Correct Answer :­

350 kcal / 350 िकलोकैलोरी

The mode of transmission of mumps is called as_______________. /  गलसुआ के संचरण का
साधन _______________ कहा जाता है।

1. Direct contact / �त् य� संपक�

2. Droplet infection / िबंदुक सं跀�मण

Contact with formite / फॉमा�इट के �ारा संपक�
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3. Contact with formite / फॉमा�इट के �ारा संपक�

4. Through blood / रक् त के �ारा

Correct Answer :­

Droplet infection / िबंदुक सं跀�मण

Integrated Child Development Service (ICDS) covers the beneficiaries like_______. /
 समेिकत बाल िवकास सेवा (आईसीडीएस) के अंतग�त ________, जैसे लाभाथঀ� आते ह誀�।

1. Pregnant mother / गभ�वती मिहलाएं

2. Nursing mother / प؀�रचया� मा◌ँ या (निस�ग मदर)

3. Children above 15 years / 15 वष� से अिधक आयु वाले बच् चे

4. Children below 3 years / 3 वष� से अिधक आयु वाले बच् चे

Correct Answer :­

Children above 15 years / 15 वष� से अिधक आयु वाले बच् चे

 Living or non­living, tangible or intangible substances that cause disease is called as
an/a_________. / ऐसे सजीव या िनजঀ�व, मूत� या अमूत� पदाथ�, जो रोग का कारण होते ह誀�,   _________
कहलाते ह誀�।

1. Agent / कारक (एज�ट)

2. Host / प؀�रचारक

3. Environment / पया�वरण

4. Elements / अवयव

Correct Answer :­

Agent / कारक (एज�ट)

MTP Act came to existence in the year _____. / एमटीपी अिधिनयम वष� _______________
म� अ�ـĀत् व म� आया था।

1. 1951

2. 1961

3. 1971

4. 1981

Correct Answer :­
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1971

The process in which there is union of single spermatozoan with ovum at ampullary part
of a tube is called as_________. / वह �ि跀�या, िजसम� एकल शु跀�ाणु निलका के कलिशका भाग पर
अंडाणु के साथ िमलता है, ________ कहलाता है।

1. Oogenesis / अंडजनन

2. Spermatogenesis / शु跀�जनन

3. Fertilization / िनषेचन

4. Conception / गभ�धारण

Correct Answer :­

Fertilization / िनषेचन

EXCEPT ________, all are the common problems among school going children. / ી� कूल
जाने वाले ब΀� चो ंम� ________ को छोड़कर िनࢀ� न सभी सामा蚀� य समી� याएं होती ह誀�।

1. Malnutrition / कुपोषण

2. Dental caries / दंत �य

3. Diarrhoea / डाय؀�रया

4. Mental disorders / मानिसक िवकार

Correct Answer :­

Mental disorders / मानिसक िवकार

The disorders that are substantially determined before/during birth are called
as_______. / वे िवकार, जो वस् तुत: जन् म से पूव� / जन् म के दौरान िनधा�؀�रत होते ह誀�, उन् ह�
_______________ कहा जाता है।

1. Congenital disorder / जन् मजात दोष

2. Metabolic disorder / चयापचयी दोष

3. Early disorder / आरंिभक दोष

4. Malignant disorder / असाध् य दोष

Correct Answer :­

Congenital disorder / जन् मजात दोष

What is the mode of transmission of helminthiasis? / हे�ـĀंिथयािसस (कृिमरोग) िकस माध् यम से
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What is the mode of transmission of helminthiasis? / हे�ـĀंिथयािसस (कृिमरोग) िकस माध् यम से
फैलता है?

1. Feco oral route  / फीको ओरल ீ�ट

2. Disposal of human excreta / मानवीय उत् सग� का िनस् तारण

3. Droplet infection / िबंदुक सं跀�मण

4. Contaminated water / दूिषत जल

Correct Answer :­

Feco oral route  / फीको ओरल ீ�ट

Which of the following is an example for zoonotic disease? / िनम् न म� से कौन ज़ोनोिटक
रोग है?

1. Dengue / ड�गू

2. Malaria / मले؀�रया

3. Anthrax /  एंကे�ᝀ�

4. Filaria / फाइले؀�रया

Correct Answer :­

Anthrax /  एंကे�ᝀ�

The source of transmission of cholera is _______. / कॉलरा (हैजा) फैलने का �ोत है
_______________।

1. Soil / मृदा

2. Water / जल

3. Blood / रक् त

4. Formite / फॉमा�इट

Correct Answer :­

Water / जल

What is VVM? / वीवीएम क् या है?

1. Test for vaccine potency  / टीके की सामĀ य� की जाँच

2. Test for vaccine contamination  / टीका संदूषण की जाँच

3. Measurement of dosage / खुराक की माप

Measurement of drug route  / औषिध के माग� की जाँच
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4. Measurement of drug route  / औषिध के माग� की जाँच

Correct Answer :­

Test for vaccine potency  / टीके की सामĀ य� की जाँच

Which of the following program focuses on Women Health? / िनࢀ� न म� से कौन सा काय�跀�म
मिहला ી� वाી� Ā य पर के�ـĀत है?

1. RCH / आरसीएच

2. DOTS / डॉट्स

3. National Vector Borne Disease Control Program / राĀी� ीय वेᕀ�र जिनत रोग िनयं�ण काय�跀�म

4. Vitamin A Prophylaxis / िवटािमन ए रोगिनरोध

Correct Answer :­

RCH / आरसीएच

“Not providing adequate food or clothing to the child” is an indicator for________. /
‘बच् चे को पया�प् त भोजन व कपड़ा न उपलब् ध कराना’ ________ का सूचक है।

1. Physical abuse / शारी؀�रक �ताड़ना

2. Child neglect / बच् चे की उपे�ा

3. Emotional abuse / भावनात् मक �ताड़ना

4. Substance abuse / भौितक �ताड़ना

Correct Answer :­

Child neglect / बच् चे की उपे�ा

Which of the following is NOT an energy yielding food? / िनम् न म� से क् या ऊजा� उत् पन् न
करने वाला खाĀ नही ंहै?

1. Carbohydrates / काब�हाइडी� ेट

2. Fat / वसा

3. Vitamins and minerals / िवटािमन तथा ख़िनज

4. Protein  / �ोटीन

Correct Answer :­

Vitamins and minerals / िवटािमन तथा ख़िनज
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Among the following are the examples of natural family planning methods, EXCEPT
for_______. / प؀�रवार िनयोजन की िनम् न िविधयो ंम� से __________ सी िविध �ाकृ ितक प؀�रवार
िनयोजन की िविध नही ंहै।

1. Calendar method / कैल�डर िविध

2. Billing’s method / िबिलंग की िविध

3. Hormonal contraceptive method / हाम�न संबंधी गभ�िनरोधक िविध

4. Coitus interruptus / व् याहत मैथुन

Correct Answer :­

Hormonal contraceptive method / हाम�न संबंधी गभ�िनरोधक िविध

Frequency of new cases of specific disease during given time period in defined
population is called as__________. / िनधा�؀�रत जनसंʀ� या म� दी गई समयाविध के दौरान िविशĀ ट
रोग के नए मामलो ंकी आवृिĀ ________ कहलाती है।

1. Incidence rate / आपतन दर

2. Prevalence rate / व्यापकता दर

3. Morbidity rate / अस् वस् थता दर

4. Mortality rate / मृत् यु दर

Correct Answer :­

Incidence rate / आपतन दर

Oxytocin injection is administered to a woman after the expulsion of the placenta is
to____________. / ऑ�ـᝀ�टोिसन इंजेक् शन मिहला की गभ�नाल िनकालने के बाद, मिहला को
__________ के िलए लगाया जाता है।

1. Relieve pain / दद�  से राहत

2. Prevent infection / सं跀�मण की रोकथाम

3. Stimulate uterine contraction / गभा�शय के संकुचन को उ榀�ीिपत करने

4. Facilitate rest and sleep / आराम करने व सोने

Correct Answer :­

Stimulate uterine contraction / गभा�शय के संकुचन को उ榀�ीिपत करने

The causative organism of AIDS is _______________. / एड्स का �ेरणाथ�क जीव होता है
_______________।

Varicella zoster  / वै؀�रसेĀ ला ज़ोી� टर
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1. Varicella zoster  / वै؀�रसेĀ ला ज़ोી� टर

2. HIV / एचआइवी

3. Rubella / 讀�बेल् ला

4. Variola / वै؀�रओला

Correct Answer :­

HIV / एचआइवी

Orthotolidine test is used to determine _____________. / ऑथ�टोिलिडन परी�ण ________
के िनधा�रण के िलए िकया जाता है।

1. Nitrates in water / जल म� नाइटी� ेट्स

2. Potassium in water  / जल म� पोटैिशयम

3. Ammonia in water / जल म� अमोिनया

4. Free combined chlorine in water / जल म� मुक् त यौगक क् लोरीन

Correct Answer :­

Free combined chlorine in water / जल म� मुक् त यौगक क् लोरीन

When should registration of pregnant women for antenatal care by an ANM take place
ideally? / एएनएम �ारा गभ�वती मिहला की �सव पूव� देख­रेख हेतू आदश� ீ�प से पंजीकरण कब
कराना चािहए?

1. Before or at 12th week / 12 व� सप् ताह पर या उससे पहले

2. Before or at 20th week / 20 व� सप् ताह पर या उससे पहले

3. Before or at 24th week / 24 व� सप् ताह पर या उससे पहले

4. Before or at 32th week / 32 व� सप् ताह पर या उससे पहले

Correct Answer :­

Before or at 12th week / 12 व� सप् ताह पर या उससे पहले

Among the following is the direct mode of disease transmission EXCEPT
for____________ / िनम् न म� से __________ को छोड़कर शेष सभी रोग संचरण के �त्य� साधन
ह誀�।

1. Direct contact / सीधा संपक�

2. Inoculation into skin / त् वचा म� संरोपण या टीकाकरण

Trans placental / टी� ांस प् लेस�टल (गभ�नालीय माग�)
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3. Trans placental / टी� ांस प् लेस�टल (गभ�नालीय माग�)

4. Faeco­oral route / फेइको ओरल ீ�ट

Correct Answer :­

Faeco­oral route / फेइको ओरल ீ�ट

BCG is administered as______. / बीसीजी का टीका लगाया जाता है ______।

1. Intravenous / अंत:िशराभ

2. Intradermal / आंतरचमঀ�य

3. Subcutaneous / अधस् त् वचीय

4. Intramuscular /  अंत:पेशीय

Correct Answer :­

Intradermal / आंतरचमঀ�य

The component of tertiary prevention is called as_________. / तृतीयक िनवारण के संघटक
को ________ कहा जाता है।

1. Health promotion / स् वास् थ् य वध�न

2. Early diagnosis / आरंिभक िनदान

3. Rehabilitation / पुनवा�स

4. Specific protection / िविशष् ट सुर�ा

Correct Answer :­

Rehabilitation / पुनवा�स

How many chlorine tablets are required to disinfect the water? / जल को िवसं跀�िमत करने
के िलए क् लोरीन की िकतनी गोिलयो ंकी आवश् यकता होती है?

1. 1 Tablet (0.5g) to disinfect 5 Liters of water  / 5 लीटर जल को िवसं跀�िमत करने के िलए 1 गोली (0.5
躀�ा)

2. 1 Tablet (0.5g) to disinfect 10 Liters of water  / 10 लीटर जल को िवसं跀�िमत करने के िलए 1 गोली
(0.5 躀�ा)

3. 1 Tablet (0.5g) to disinfect 15 Liters of water  / 15 लीटर जल को िवसं跀�िमत करने के िलए 1 गोली
(0.5 躀�ा)

4. 1 Tablet (0.5g) to disinfect 20 Liters of water  / 20 लीटर जल को िवसं跀�िमत करने के िलए 1 गोली
(0.5 躀�ा)
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Correct Answer :­

1 Tablet (0.5g) to disinfect 20 Liters of water  / 20 लीटर जल को िवसं跀�िमत करने के िलए 1 गोली
(0.5 躀�ा)

The immunity in which level of resistance of community or group of people to a
particular disease is referred as ____________. / लोगो ंके समूह की िकसी िविशष् ट रोग के �ित
�ितरोधकता का स् तर वह �ितर�ण है जो _______________कहलाता है।

1. Active immunity / सि跀�य �ितर�ा

2. Passive immunity / िन�ـĀय �ितर�ा

3. Herd immunity / समूह �ितर�ा

4. Place immunity / �ـી�थित �ितर�ा

Correct Answer :­

Herd immunity / समूह �ितर�ा

EXCEPT _______________, all are the components of under five clinic. / िनम् न म� से
_______________को छोड़कर सभी पांच �ـ�िनक के संघटक ह誀�।

1. Care in illness / बीमारी म� देख­भाल

2. Preventive care   / िनवारक देख­भाल

3. Growth monitoring / वृ�ـĀ की िनगरानी

4. Non­formal education / अनौपचा؀�रक िश�ा

Correct Answer :­

Non­formal education / अनौपचा؀�रक िश�ा

The best position that promotes efficient uterine contraction in early labor is__________.
/ वह सव��ेष् ठ �ـી�थित, जो आरंिभक �सव म� �भावी गभा�शय संकुचन म� सहायक होती है
____________।

1. Supine / ऊध्� वमुखी (िचत् त)

2. Sitting / बैठना

3. Lateral / पाश्� वीय

4. Upright / सीधा

Correct Answer :­

Upright / सीधा



35)  

36)  

37)  

38)  

GOBI campaign initiative is undertaken by ________. / गोबी अिभयान _______________
के �ारा चलाया जाता है।

1. WHO / िवश् व स् वास् थ् य संगठन

2. UNICEF / यूिनसेफ

3. UNESCO / यूनेस् को

4. FAO / खाĀ एवं कृिष संगठन

Correct Answer :­

UNICEF / यूिनसेफ

Babies born before the end of 37 weeks of gestation is termed as________birth. / ब΀� चे के
37 स蜀� ताह की गभा�वી� था की समा�ـ灀� से पूव� ज蚀� म लेने को  ________ ज蚀� म कहा जाता है।

1. Pre­term / अप؀�रपक् व

2. Post­term / पोस् ट­टम�

3. Full­term / पूण�कािलक

4. Term / आविधक

Correct Answer :­

Pre­term / अप؀�रपक् व

 TAB vaccine is given for the prevention of________. / टीएबी टीके को ________ रोग की
रोकथाम के िलए िदया जाता है।

1. Typhoid /  टायफ़ायड

2. Cholera  / हैजा

3. TB  / टीबी

4. Influenza  / इ蚀�Āुएंजा या Ā लै�ـĀक Ā वर

Correct Answer :­

Typhoid /  टायफ़ायड

Poliomyelitis is a _______________ infection. / पोिलयोमे讀�रĀुशोथ )पोिलयोमाइिलिटस(
_______________ सं跀�मण होता है।

1. Fungal / कवकीय
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2. Bacterial  / जीवाणुवीय

3. Protozoa / �ोटोज़ोआ  

4. Viral / िवषाणुवीय

Correct Answer :­

Viral / िवषाणुवीय

Diethyl carbamazine is the drug of choice in case of __________. / डाइएिथल काब�माइज़ीन
_______________ के िलए वरीय औषिध है।

1. Malaria / मले؀�रया

2. Filaria / फाइले؀�रया

3. Dengue / ड�गू

4. Leprosy / कुष् ठ रोग

Correct Answer :­

Filaria / फाइले؀�रया

The source of transmission of cholera is through___________. / हैजा के संचरण के �ोत का
माध् यम ___________ है।

1. Contaminated water and food / संदूिषत जल और भोजन

2. Contaminated soil / संदूिषत मृदा

3. Poor environmental sanitation / ख़राब पया�वरणीय स् वच् छता

4. Droplet infection / िबंदुक सं跀�मण

Correct Answer :­

Contaminated water and food / संदूिषत जल और भोजन

Syphilis is caused by________. / िसिफिलस ________ के कारण होता है।

1. Spirochaetes / स् पाइरोचाएट्स

2. Virus / िवषाणु

3. Fungus  / कवक

4. Protozoa / �ोटोज़ोआ

Correct Answer :­

Spirochaetes / स् पाइरोचाएट्स
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Spirochaetes / स् पाइरोचाएट्स

Hyperemesis gravidarum refers to _________. / हाइपरमेिसस 躀ै�वडैरम ________ को
संदिभ�त करता है।

1. Severe type of diarrhoea / गंभीर �कार के डाय؀�रया

2. Severe vomiting in pregnancy / गभा�वस् था म� गंभीर �कार की उल् टी

3. Severe abdominal pain during periods / मािसक धम� के दौरान होने वाला गंभीर पेट का दद�

4. Severe headache in hypertension / उच् च रक् तचाप म� गंभीर िसरदद�

Correct Answer :­

Severe vomiting in pregnancy / गभा�वस् था म� गंभीर �कार की उल् टी

Which of the following groups of vitamins is fat soluble? / िनम् न म� से कौन सा िवटािमन
समूह, वसा म� िवलेय होता है?

1. A,B,E,K

2. A,B,D,K

3. A,D,E,K

4. C,D,E,K

Correct Answer :­

A,D,E,K

The first milk which is most suitable and nutritious for the baby is called as_______.  / माँ
का पहला दूध जो िक पोषको ंसे समृĀ तथा सवा�िधक उपयुŀ� त होता है, को ________ कहा जाता है।

1. Colostrum / नवस् तन् य (कोलोĀी�म)

2. Nutrimix / न् यूिटी� िमक् स

3. Lactogen / लैक् टोजन

4. Vitamins / िवटािमन

Correct Answer :­

Colostrum / नवस् तन् य (कोलोĀी�म)

The committee which proposed the concept of multipurpose health worker
is__________. / ब�榀े�शीय स् वास् थ् य कमঀ� की अवधारणा को �स् तािवत करने वाली सिमित है
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__________।

1. Srivatsava Committee / �ीवास् तव सिमित

2. Kartar Singh Committee / करतार िसंह सिमित

3. Bhore Committee / भोरे सिमित

4. Mudaliar Committee / मुदैिलयर सिमित

Correct Answer :­

Kartar Singh Committee / करतार िसंह सिमित

Census is conducted once in____________. / जनगणना, _______________ म� एक बार की
जाती है।

1. Two years / दो वष�

2. Three years / तीन वष�

3. Five  years / पाँच वष�

4. Ten years / दस वष�

Correct Answer :­

Ten years / दस वष�

The congenital anomaly which occurs due to the deficiency of folic acid in pregnancy
is________. / गभ�वती मिहलाओ ंम� फोिलक अࢀ� ल की कमी के कारण होने वाली ज蚀� मजात िवषमता
________ होती है।

1. Cleft lip / खंड ओĀ ठ

2. Tetrology of Fallots / फैलट्स की टेटी� ोलॉजी

3. Neural tube defects / तंि�का निलका से संबंिधत दोष

4. Ambiguous genitalia / अી� पĀ ट जननांगता

Correct Answer :­

Neural tube defects / तंि�का निलका से संबंिधत दोष

Beri beri is a condition which results from deficiency of __________. / बेरी­बेरी, एक ऐसी
रणामી� वீ�प होता है।�ી�थित है जो  _______________ की कमी के प؀ـ�

1. Riboflavin / राइबोĀेिबन

2. Niacin / िनया सीन
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3. Thiamine / थायमीन

4. Pyridoxine / पाइरीडॉक् सीन

Correct Answer :­

Thiamine / थायमीन

Whooping cough is caused by _______________. / काली खांसी _______________ के
कारण होती है।

1. Varicella zoster  / वै؀�रसेĀ ला ज़ोી� टर

2. Bordetella pertussis  / बॉिड�टेĀ ला परĀूिसस

3. Paramyxo virus / पैरामाइक् सो िवषाणु

4. Entero virus  / इंटेरो िवषाणु 

Correct Answer :­

Bordetella pertussis  / बॉिड�टेĀ ला परĀूिसस

Expansion of BCG is_________________________. / बीसीजी का पूण� ீ�प है
_______________।

1. Bacilles clostridium group / बैिसलस क् लॉिटी� िडयम 躀ु�प

2. Bacillus calmette Guerin / बैिसलस कॉमेĀ गुए؀�रन

3. Bacteria cough given / बैक् टी؀�रया कफ़ िगवेन

4. Bacillus cocci Guerin / बैिसलस कोक् की गुए؀�रन

Correct Answer :­

Bacillus calmette Guerin / बैिसलस कॉमेĀ गुए؀�रन

Epidemiological triad consists of _______. / महामारी िव帀�ान ि�क म� _______________
समािहत होते ह誀�।

1. Agent, host, environment / कारक, प؀�रचारक, पया�वरण

2. Agent, community, human / कारक, समुदाय, मनुष् य

3. Society, individual, family / समाज, व् य�ـ�, प؀�रवार

4. Host, society, environment / प؀�रचारक, समाज, पया�वरण q

Correct Answer :­

Agent, host, environment / कारक, प؀�रचारक, पया�वरण



52)  

53)  

54)  

55)  

EXCEPT this, all are the common menstrual problems? / िनम् न म� से क् या सामान् य ீ�प से
मािसक धम� से जुड़ी समस् या नही ंहै?

1. Dysmenorrhoea / कृष् छात�व

2. Menorrhagia /  अितरज

3. Amenorrhoea / अमेनोरोहोआ (सामान् य मािसक �ाव न होना)

4. Ottorhea / अĀो؀�रया

Correct Answer :­

Ottorhea / अĀो؀�रया

The energy value of human milk is___________. / मानव दुग् ध का ऊजा� मान होता है
_______________

1. 50 kcal/100ml ­ 50 िकलोकैलोरी/ 100 िमली.

2. 80 kcal/100ml ­ 80 िकलोकैलोरी/ 100 िमली.

3. 70 kcal/100ml ­ 70 िकलोकैलोरी/ 100 िमली.

4. 100 kcal/100ml ­ 100 िकलोकैलोरी/ 100 िमली.

Correct Answer :­

70 kcal/100ml ­ 70 िकलोकैलोरी/ 100 िमली.

In India average birth weight (in kg) of a new born is_______________. / भारत म�, नवजात
िशशु का औसत भार (िक躀�ा. म�) ________ होता है।

1. 2.0­2.5

2. 2.5­3.0

3. 3.5­4.0

4. 4.0­4.5

Correct Answer :­

2.5­3.0

The first breast milk which is rich in nutrients is known as________. / पोषको ंसे भरपूर, मा◌ँ
के पहले दूध को ________कहा जाता है।

1. Foremilk / फोरिमल् क (अ躀� दुग् ध)

Colostrums / नवस् तन् य (कोलोĀी�म)
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2. Colostrums / नवस् तन् य (कोलोĀी�म)

3. Hind milk /  िहंडिमल् क

4. Artificial milk / कृि�म दूध

Correct Answer :­

Colostrums / नवस् तन् य (कोलोĀी�म)

Among the following are the indicators of MCH services, EXCEPT for_________. / िनࢀ� न म� से
________ एमसीएच सेवा का सूचकाँक नही ंहै।

1. Infant mortality rate / िशशु मृत् यु दर

2. Maternal mortality rate / मातृ मृत् यु दर

3. Under 5 mortality rate / 5 वष� से कम आयु वाले बच् चो ंकी मृत् यु दर

4. Disease specific mortality rate / रोग िवशेष के कारण मृत् यु दर

Correct Answer :­

Disease specific mortality rate / रोग िवशेष के कारण मृत् यु दर

The nutritional program which aimed to improve community involvement is called
as_______. / सामुदाियक सहभािगता को �ोत् सािहत करने वाले पोषण काय�跀�म __________
कहलाते ह誀�।

1. Applied Nutrition Program /  अनु�युक् त पोषण काय�跀�म

2. Balavadi Nutrition Program / बलवाड़ी पोषण काय�跀�म

3. Midday Meal Program /  मध् यान् ह भोजन काय�跀�म

4. Special Nutrition Program /  िविशष् ट पोषण काय�跀�म

Correct Answer :­

Applied Nutrition Program /  अनु�युक् त पोषण काय�跀�म

The number of sub­centre under each PHC is______. / �त् येक �ाथिमक स् वास् थ् य केन् ၀� के
अंतग�त आने वाले उप­केन् ၀�ो ंकी संख् या _______________ होती है।

1. 1­2

2. 3­5

3. 6­8

4. 9­10
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Correct Answer :­

3­5

Which is an example for permanent method of family planning for male? / पु讀�षो ंके िलए
प؀�रवार िनयोजन की स् थायी िविध क् या है?

1. Tubectomy / Āूबेक् टॉमी

2. Vasectomy / वैसेक् टॉमी

3. Laproscopy / लै�ोस् कोपी

4. Norplant / नॉरप् लान् ट

Correct Answer :­

Vasectomy / वैसेक् टॉमी

Which is an example for water soluble vitamin? / जल म� िवलेय िवटािमन का उदाहरण कौन
सा है?

1. Vitamin A / िवटािमन ए

2. Vitamin B / िवटािमन बी

3. Vitamin D / िवटािमन डी

4. Vitamin K / िवटािमन के

Correct Answer :­

Vitamin B / िवटािमन बी

Dapsone is a drug of choice in case of_________. / डैप् सोन, _______________ के िलए एक
वरीय औषिध होती है।

1. Malaria / मले؀�रया

2. Filarial / फाइले؀�रया

3. Leprosy / कुष् ठ रोग

4. AIDS / एड्स

Correct Answer :­

Leprosy / कुष् ठ रोग

Drug of choice for leprosy is called__________. / कुष् ठ रोग की वरीयऔषिध __________
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Drug of choice for leprosy is called__________. / कुष् ठ रोग की वरीय औषिध __________
कहलाती है।

1. Dapson / डैप् सन

2. Rifampicin / ؀�रफै�ـĀिसन

3. Kanamycin / कैनामाइिसन

4. Levofloxacin / िलवोĀॉक् सेिसन

Correct Answer :­

Dapson / डैप् सन

Hyperglycemia is a condition when glucose level exceeds ___________. /
हाइपरग् लाइसेिमया (अित姀ू�कोसरक् तता) वह �ـી�थित है जब ग् लूकोज़ का स् तर ________ से अिधक
प�ंच जाता है।

1. 120 mg% / 120 िम躀�ा.%

2. 140 mg% / 140 िम躀�ा.%

3. 160 mg%  / 160 िम躀�ा.%

4. 180 mg% / 180 िम躀�ा.%

Correct Answer :­

140 mg% / 140 िम躀�ा.%

The appropriate time to perform breast self­examination is_________. / स् तनो ंकी स् वत:
जाँच करने का उपयुक् त समय _________ होता है।

1. Soon after delivery / �सव के तत् काल बाद

2. One week prior to menstruation / मािसक धम� से एक सप् ताह पूव�

3. During lactation period /  Āनपान की अविध के दौरान

4. One week after menstruation / मािसक धम� के एक सप् ताह बाद

Correct Answer :­

One week after menstruation / मािसक धम� के एक सप् ताह बाद

Measles vaccine is administered during which period of infancy? / ख़सरे का टीका, िकस
शैशव अवस् था के दौरान लगाया जाता है?

1. 3 months / 3 महीने

6 months / 6 महीने
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2. 6 months / 6 महीने

3. 9 months / 9 महीने

4. 12 months / 12 महीने

Correct Answer :­

9 months / 9 महीने

Inflammation of middle ear is called as____________. / मध् य कान की सूजन कहलाती है
________।

1. Rhinitis  / राइनाइिटस

2. Mastoiditis  / माી� टॉइडाइिटस

3. Otitits media  / ऑिटटाइट्स मीिडया

4. Sinusitis / िशरानाल शोथ या साइनिसिसस

Correct Answer :­

Otitits media  / ऑिटटाइट्स मीिडया

Safe period is also called as________. / सुरि�त अविध को _______________ भी कहा जाता
है।

1. Calendar method / कैल�डर िविध

2. Cervical mucus method / 躀�ीवा श् लेष् मा िविध

3. BBT method / बीबीटी िविध

4. Symptothermic method / ल�णोधी (िसम् प् टोथेरिमक) िविध

Correct Answer :­

Calendar method / कैल�डर िविध

World AIDS day is celebrated on__________ every year.  / िवĀ व एड्स िदवस, �Ā येक वष� 
_________ को मनाया जाता है।

1. November 1st  / 1 नवंबर

2. December 1st  / 1 िदसंबर

3. March 1st  / 1 माच�

4. July 1st  / 1 जुलाई
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Correct Answer :­

December 1st  / 1 िदसंबर

Ideal temperature for the DPT vaccine storage is____________.  / डीपीटी टीके के भंडारण
के िलए आदश� तापमान _______________ होता है।

1. 4 to 8°C / 4 से 8° से�ـ�यस

2. Room temperature / सामान् य तापमान

3. 0 to ­20° C / 0 से 20° से�ـ�यस 

4. Less than 0°C / 0° से�ـ�यस से कम  

Correct Answer :­

4 to 8°C / 4 से 8° से�ـ�यस

Elephantiasis is a one of the main clinical feature of_____. / फीलपाँव _____ की मुख् य
िचिकत् सीय िवशेषता म� से एक है।

1. Malaria / मले؀�रया

2. Filaria  / फाइले؀�रया

3. Dengue / ड�गू

4. Leprosy / कुष् ठ रोग

Correct Answer :­

Filaria  / फाइले؀�रया

Among the following are the benefits of kangaroo maternal care, EXCEPT for________.
/ िनम् न म� से __________, कंगाீ� मातृ संर�ण का लाभ नही ंहै।

1. Promotes bond between mother and baby / माता तथा िशशु के मध् य बंधन को बढ़ावा देता है।

2. Maintains temperature of the baby / िशशु का तापमान संतुिलत रहता है।

3. Encourages breast feeding /  स् तनपान को बढ़ावा देता है।

4. Enhances sleep and comfort of mother / मा◌ँ के आराम करने व सोने म� सहायक होता है।

5. Enhances sleep and comfort of mother / मा◌ँ के आराम करने व सोने म� सहायक होता है।

Correct Answer :­

Enhances sleep and comfort of mother / मा◌ँ के आराम करने व सोने म� सहायक होता है।

Enhances sleep and comfort of mother / मा◌ँ के आराम करने व सोने म� सहायक होता है।
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Which of the following diseases is NOT included under National Vector Borne Disease
Control Program? / िनࢀ� न म� से कौन सा रोग, राĀी� ीय वेᕀ�र जिनत रोग िनयं�ण काय�跀�म म� शािमल नही ंहै?

1. Malaria / मले؀�रया

2. Filaria / फाइले؀�रया

3. Kala Azar /  कालाजार

4. Tuberculosis / �य रोग

Correct Answer :­

Tuberculosis / �य रोग

Chadwicks sign refers to_________. / चैडिवक का संकेत _________ को संदिभ�त है।

1. Vaginal pulsation / योिनक स् पंदन

2. Hardening of cervix / 躀�ीवा की कठोरता

3. Bluish discoloration of vagina / योिन का नीलाभ िववण�न

4. Uterine contraction / गभा�शय का संकुचन

Correct Answer :­

Bluish discoloration of vagina / योिन का नीलाभ िववण�न

Koplick’s spots are seen in __________. / को�ـĀक के स् पॉट (धब् बे) ________ म� देखे जाते
ह誀�।

1. Rubella / 讀�बेल् ला

2. Rubeola  / 讀�िबओला

3. Typhoid  / टायफॉयड

4. Chickenpox  / चेचक

Correct Answer :­

Rubeola  / 讀�िबओला

The deficiency disorder caused due to the deficiency of Vitamin D in children is_______.
/ ब΀� चो ंम� िवटािमन डी की कमी के कारण होने वाला अĀता िवकार है ________।

1. Rickets / ؀�रकेट्स

2. Scurvy / ી� कवঀ�

Bitot’s spot / िबटोट िचिĀ



3. Bitot’s spot / िबटोट िचिĀ

4. Marasmus / मेराી� मस (सूखा रोग)

Correct Answer :­

Rickets / ؀�रकेट्स


